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. The word *economic’ refers to something that:

A} Is scarce B} Iz limifed
CoCommands a price 1 All of the abave

oA posilive GDP pap exisls when:

A) Mominal GO is greater than real GDP
B} Potential GIP is greater than real CGGOP
) Real GINF is greater than potential GDP

¥y Ceonomic activity is at its full employment level

. Unanticipated inflation is harm fal to:

A% Creditors

B Debtors

L Betirees whose retirement s indexed

D} Economic growth bus has no oftect upon individual members of the sconomy

The natural rate of unemplovment is the rate of poemployment that exists when there
15 only!

Al Trictional and cwelical unemployviment

B}y Frictional and structural unemployvimed

) Structural and cyclical unemplovment
13 Frictional unemployment

The consumption functinn specifes thal consumplion spending is:

A) Megatively related to the level of disposable income
B Positively related to the level of dispogable income
) Mepatively related (o the rate of infenes!

D) Positively related to the rate of interest

An inflationary gap can he eliminated by:
A) Eagual increases in net tax revenues and government spending
B) An increase in povernment spending and a decresse in lump sum laxes
C) Equal decreases in net tax revenues and government spending
I A deceease in lump sum faxes

Biuilt in stabilizers are;

Ay Ihscrebonary fscal actions available o the government

B) Tnereased government spending on public works projects -

1A change in the income tax ratc

Dy Changes in net tax revenues that are the result of a change in the level of

gconomic activity



B, The velocity of money measures:
A) The use ol each unit of money in purchasing final outpae
B) The average use of maney in purchaging final output
) The average use of monsy by consumers in purchasing consumer goods

D} The average use of money by the business seclor

9. Capital despening oceurs when there is:
A A inerease in thestiock of capital
B) An equal increase in the stock of capital and the labour supply
C) A greater increass in the labour supply than in the stock of capital
IM A preaier increase in e stock of capital than in the kabour supply

HL If total revenue Tises when price falls, the demend curve is:
H) Unitary elastic

A Elastic
Ch Any of the above

C Inelastic

L1, When total wility increases, marginal utility is:
B Megative and declining

A Wegative and increasing
1y Positive and declining

Y Leris

2. The demand curve faced bv a perfectly compelitive lirm is:
A) Negatively stoped B Positively sloped
) Huerlzontal ¥ Any ol the above

13. In the short run, the menopolist:
B} Breaks even

A) Makes a profit
O Any of the above

() Incars a foss

14, Price discrimination invelves charging differcnt prices for & coemmodity:
A1 To different classes of customers
B) ¥or different quantities purchased
) In dilTecenl markets
¥ All of ihe above

L5, Profit 1= equal 1o total revenne minus:
H) Implicit costs

A) Explicit costs
[ Wages and rents

) Implicit and explicit costs

L6 In case of multiple correlation, the sumber of varisbles involved are greater than
Ad Thiee B Fous ) Twao |3] C e
| 7. The component useful for jong term forecasting is:
B} Cyolical ] rregular
(Z)

A0 Scasonal I¥) Trend



8. Probahility of a surc event is:
A D B)yi CH0:5 C) Nong of these

|9. The appropriate expenditure switching palicy to correct a deficit in the halance of

payments is;
A) Revaluation B} Devaluation
O} Monetary Tolicy [3) Fiscal Policy

20, "Ceonomies of Scale” is-a term that refers to the peoduction situation where the growith
of output in relation to the incresse in the use of inputs is;

A} Creater B) Less C} Equal D} All of these

21 A liguidity cffect ocours when;
A) A reduction in government spending lowers the rate of mtorest
B} A money supply increase jowers the rate of interest
C) An increase in government spending increases the rate of interest
Y A mohey supply increase raises the rale of interesl

22, Interest cetur is the!

A) Sum received in lending o a deficit spending unit

B) Present value of the annual flow of interest pavments
)} Coupon rate of interest

[Y None of the ahove

23 A bank s msalvent when:

A) Deposit liahilities excecd owner's equity
B Owner’s cquity excoeds dopoait lahilities
) Rotal assets exceed owner's equily

[y Fotal lvabilitics exceed total misets

24, The GNP deflator,

Al Measures the real value of constant GNP

B Is used to measure real honsehold income over time
C) Is an index of price changes in GNP aver thine

[¥) 15 an index of chenges in wholesale prices uver Lime

23, The rate of interest, in Classical Analysis:

A) Determunes the full employment level of output
B Egnates saving and investment

"} Equates the supply and demand for moeney

[¥) Determines the short rus emplayment of lzhour

(3)



i, Kevnes held thar

Al Censumplion js a feaction of the level of income and saving iz a furction nf
the rate of Inderest

B) Saving is & finction of income and consumption is a function of rate of
interest

L} Both consumption and saving depend on the level of income

13} Both consumption and saving depend on the rate of intérest

27, The Philips curve shows:

]
L]

A) An inverse I'-.‘l;'l'[il_"n:ih'lp between the rate of inflution and the rate
Unemployment

B} A direct relationship between the rale of inflastion and the rae of
unemployvitient

€1 An inverse celationship between the rate of infation and the level of
cmplovinent

13} An inverse relationship between the price level and the level of employment

2B. According to Rational Expeclations Theory, money supply changes:

A} Crenerally <o nod affect the real rate of interest

By Crenerally do affect the real rate of interest

L) Alfect the real rate of Interesl beceuse individuals ineormectly anticipate the
inflationary effect of money supply changes

¥ Affect the real rare of interest becouse individuoels correctly anticipate the
inflationary effect of money supply changes

249. The promise that benefil of economic growth will reach ait sections of the population

is called:
A) Tnckle Lip Effect B) Trickle Dowin Effect
C) Take OHT Effect 1) Backlash Effect

3, Conspicucus consumption leads tn:
A Inerease in investment B Decrease in consumpiion
B} Decrease i saving D) Mene of these

Y1 The concept of *Demonstration Fffect” was given by
A) Fricdman B) Dussenberry (") Marshall LA Muodigibiani

12 The incidence of lax relers o
A Growth of taxaluen
B The way in which tax s cofiected
1 Wha pays the tax ullimately
0y Level and rate of taxation

14)



33, A regressive lax will tend to redistribute income:
A} Equally B} Unegually ) Indirectly [31 Proportionally

34, Consumer surpius 15 delioned ws:

A) The difference between what the consumer actally pays and what he’s
willing to pay

B) The difference hetween what the consumer s willing to pay and what he
actualty pays

) The sum ol what the consumcr pays and what he's willing (e pay

1y What the consumer is willing to pay divided by what he actually pays

15, The existence of @ natural rate of unemploymenl sugpeests thas

A) There is no infletion — wnemployment trade ofT in the [ong fn

B) Increased likelihood of demand pull inflation

) A decrease in the rate of unemployment

Dy The shart run Philips curve is steeper than the lorg mn Philips curve

36. If a firm doubles all inputs in the long run 2nd Letal output is less than double, it iz a

case oft
A) [Yinnishing relurns H} ¢ onstant relurns 1o seale
£} Increasing returns o scale [ Decreasing returns to-5caic

17, A depreciation of a nation's currency usually canses internal prices W

A3 Fall B) Rise
C) Remain unchanged [ All of these

3%, Automatic adjustment o balange of payments disequilibrium can be brought shout by
variations in:

Al External prices B) Internal prices C} Income 1y All of these

34, Hedping celers o)
A) The accep@nce of & [oretgn exchange risk
B) The covering nf a foreipn exchange rizk
) Forcign exchangs speculation
My Forcign exchange arbitrape

45, An example of a Eueo currency is:
A) A dollar deprsit oulside the United States
B} A pound sterling deposil cutside the United Kingdoem
C) A mark deposit nutside Germany
0 All ot the abowe

()



41 The Hretton Woods svstem was:

A A pold standard B A Mexible exchange rate syvstem
A pold exchange standord [¥) Manc of these

42, The demand for money i5:

A) Positively related to output and the eate of inlerest

B} Megatively related to putput and the rate of interest

C} Mepatively related to output and positively related to the rate of interest
[ Pesitively related to output and negatively related to the rate of intorest

43. By definition, the marginal propensity 1o consumne:
AY BEquals AC /A Y
B) 1s the behavioural coefficient, I, in the equation: C=a+bY
7} Ts the slope of the Consumption Function

Iy Al of the shhve

44, Crowding Out ocours when:

Ad A change inthe rate of interest atfoets the guantity of monay demanded

Bi A stimulative fiscal policy pushes up the rale of interest which lowers
investment spending

1 A stimulative Gssal policy changes the velocity of money

13} A stimulative Tscal policy increases equilibriom outpul

45, Ceteris Paribus is used in economics when:
M) Two varighles are positively related
B} Two variables are negatively related
(] The value of an indspendent variable affecting the depandent variable is held
constant
I} The value of a dependent variable affecting the independent variable 15 held
N sEnt

46, At the best, or optimurm, shast run level of oulput, the firm wall be:

A) Maximising total prodils

B} Minimising total losses

) EBither maximising total profits or minimising total josses
13 Maximising peofits per unid

47 Simultanecus equitibrium in the money (LM} and goods (15) markets exists:

AY At an unlimited number of output levels and rales of interest 2
By At only ens output level and rate of ineres!

€% At an uniimited mmmber of cutpul levels and only one rate of intetest
17 Al cnly one output level asd an unlimited number of rates of interest

(&)



48, The shorl run laboor supply: function is:
A Postlively stoped becawse of disutility of work
By MNepalively sloped because of disulility of work
C) Positively sloped because of disutility of leisure
D) Negativelv sloped because of disutility of leisurs

4%, The demand for labour schedule:

A} Shifts leftward when the price level rises
By Shifts rightward when the price level rises

) Shifts rightward when there 8 a propertional increase in the price level and the
nomingl waoe

[ Shifts lefiwards when there is a proporticnate: increase in the price level and
the norminel wage

50 Apcording o Kaldors Model of Trade Cyvcle, Saving and Income relationship is:
A) Lincar and direct
B} Linear ond inverse
£} Monlinear and dicect
[ Monlinear and inverse

T=h=r



